A beam simply-supported at
both the ends , of length [
carries two equal unlike
couples M at two ends. If the
flexural rigidity El = constant,
then the central defection of
beam is given by

M2/ 4El
M/%/16El
M /% /64El
M/2/8EI
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A cantilever carries a load P at C
as shown in the given figure, the
deflection at B is
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¢ m(lty) Pog(l-3)
A simply supported rectangular
beam of span ‘I’ and depth
carries a central load ‘W’ the
ratio of maximum deflection to
maximum bending stress is

a. L2/6ED
b. L12/8ED
c. L>2/48ED
d. L2/12ED

A simply supported beam
of uniform flexural rigidity
is loaded as shown in the
given figure. The rotation of
the end ‘A’ is

PL2/9EI
PL2/6EI
PL2 /18 El
d. PL2/12El
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Strain rosetters are used to-
farepfar Id¥ex &1 T fomam St §-
Op 1 : measure shear strain
Pt R B A & e

Op 2 : measure linear strain
YT Rigpfar &Y gy & fre

Op 3 : measure volumetric strain
HIAATHS [aHTa &l ATGA & forw
Op 4 : relieve strain

farepfa & 3radh L & faw

The lower yield point is more significant than
upper yield point because

forren s fig 30l e g @ sfaards
m%, a:ﬁ-ﬁ;'

Op 1 :itis less than upper yield point

TE U GG g A FA AT

Op 2 :it is less influenced by shape of the
specimen

g ufaeel & 3R gRT HH UIfad axar &1

Op 3 : if occurs before upper yield point

Op 4 : strain is more at the point

s fiig ¥ Rigpfer 31 g &



Steel has proportionality limit of 300 MPa in
imple tension. It is subjected to principal
stresses of 120 MPa (tensile), 80 MPa
(tensile)and 30 MPa (compressive). What is the
factor of safety according to maximum stress
theory?

ATURT AT 3 SEATA Y ITIUTcAD AT b HIAT 300
MPa ¥ I H&g ufaedi (120 MPa) (d<1<1),80 MPa
(@a<) 3R 30 MPa (Tdisar) & 3refia &31sda
ufdee RgTed & 3[R &I AT =1 §?
Op1:15

Op2:1.75

Op3:18

Op4:25

A bar of diameter 300 mm is subjected to a
tensile load such that the measured extension
on a gauge length of 2000 mm is 0.09 mm and

the change in diameter is 0.0045 mm. The
Poisson's ratio will be-

300 mm ITH & UH B3 W U ddld AR 30 die
o191 & o6 T 2000 mm & FFTS WX fAEar 0.09
mm FATYT I ¢ 3R e 3 0.0045mm uRada gan

&, dl UTIHeT 31]uTd aT-

Op 1:43556

Op 2:43525

Op 3:1/4.5

Op 4 : 43525

With the increase in the carbon content, the
ductility of the steel will

ehrdiet AT 3 gfE AT, FEUT Y dgar elaT-
Op 1 : increase/dgaT

Op 2 : decrease/Eream

Op 3 : not be affected/smfad A€ gem
Op 4 : difficult to tell/adTaT Hehel &
What is tenacity?

TodT FAT§?

Op 1 : ultimate strength in tension

ddd 3 TH Faed

Op 2 : ultimate strength in compression
s 3 9 ATy

Op 3 : ultimate Shear impact strength

IH pd ared

Op 4 : ultimate impact strength
WA HICT AALY

A steel cube of volume 8000 cc is subjected
toan all round stress of 1330 kg/cm?. The bulk
modulus of the material is 1.33%x10° kg/cm2.The
volumetric change is-

8000 cc 3HIdd &I UH FEUNT 8 1330
kg/cm? & FFqut ufdere & 3refie & ugre &1 3mada

AT 1.33%108 kg/em? &1 3T ufkad arem-
Op1:8cc

Op2:6c¢cc

Op3:08cc

Op4:10°3

In terms of bulk modulus (K) and modulus of
rigidity (C), the Poisson's ratio can be
expressed as-

3R AT (K) JAT T&dT AT9is (C) & Uar #,
UTRIA HJuTd ! foie<T w9 3 caeh o S dehet &

Op 1: Siiac
Op 2: grtic
o et 3:.;5
OP 4 : gii2c

An elastic bar of length 'l, cross-sectional area
A, Young's modulus of elasticity E and self-
weight W is hanging vertically. It is subjected
to a load P applied axially at the bottom
end.The total elongation of the bar is given by

FIETS 'l, BT TP UcATFY B3 U H1c &1FA, E a1
AT 3T 7R W Siddd oIcehl 37 & 19E T HR P
& 3refa &1 O 3rsfy w0 @ A R o a9mn
I & | BS/AR & Pl TgTd R AT STl §-

Wi Pl

OPI:T{-J } W
OpZ:%é. t %
Op3: 5 + 5o
Op4:% } %

The standard gauge length over which the
extension is to be measured to determine
percentage elongation of specimen with initial
cross-section of ap is/

ae AlAD AT TS O U ap & URTFHE IHUE
T & 1Y U Ufagd & ufaerd gea & fAaifa
&Yl & ford THR &l AT SATT &, ©-

Op 1:6.56,/a,

Op 2:6.65,/a,

Op 3:6.66,/a,

Op 4:ay/6.56



The Poison's ratio of a material having
Young's modulus 200 GPa and Rigidity
Modulus 80 GPa is :

T ST FT UTgold IJUTd &l AT &1 FHTT- ATfS
WY1 ATYIH 200 GPa 3R Tedr Ais 80 GPa

3

Op1:0.2

Op2:0.25

Op3:04

Op4:05

The property of a material enabling it to resist
deformation under stress is called-Ufdad &

3refie fapfa o1 favr et of et uerd & 34 Iuii
& el ST &

Op 1 : toughness/di#asua

Op 2 : stifness/dhsTadd

Op 3 : strenglh/aTa2y

Op 4 : brittleness/HIRdT

Which one of the following is the load factor?
et o Pl ve HR Iunis -
Op 1: Live load/Dead load

afera a/fafsra AR

Op 2 : Failure load

Working load/fawer HIR/ATRIGRY HIX
Op 3 : Total load/Dead load

Pl AR / FATSHT R

Op 4 : Dynamic load/Static load
afaia smedfas ar

If the modulus of elasticity for a given material
is twice its modulus of rigidity, then bulk
modulus is equal to-

I Teh T gU uerd & AT Ueareydr A sadh
T&dT AU T G-I[AT &, dl A AT & aTeR
&

Op1:2C

Op2:3C

Op 3:2C/3

Op 4:3C/2

The ratio of shear modulus to the modulus of
elasticity for a Poisson's ratio of 0.4 will be-
0.4 UdA Iquid & fausda AW au
UATEAT ATUTeh T I[UTd SIaT-

Op 1:43651

Op 2: 43592

Op 3 :41760
Op 4 : 14/5.



